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Sample Paper – 2009

Class – X

Subject – Mathematics

1. 1 is a zero of x3 – k, find k.

2. Find  the  value  of k for which the system of equations kx + 2y = 5 and 3x + y = 1 has unique solution.

3. Find  the  nature  of  the  roots  of  the  quadratic  equation  2x2  –  3x  +  5  =  0.

4. Find the value of k so that x = 2 is a root of the quadratic equation 3x2 – kx – 2 = 0

5. How many numbers of 2 digits are divisible by 5 ?

6. A  ladder  20m  long  reaches  a  window  of  a  house  10m  above  the  ground. Determine the distance of the foot of the ladder from the house.

7. A man goes 12m due east and then 9m due north. How far is he from the starting point?

8. The lengths of the diagonals of a rhombus are 24cm and 10cm. Find each side of the rhombus.

9.  Find the distance between the points ( a, b ) and ( -a, -b ).

10. Find the coordinates of a point A, where AB is a diameter of a circle whose centre is ( 2, -3 ) and B is ( 1, 4 ).

11. If the points A ( 6, 1 ), B ( 8, 2 ), C ( 9, 4 ) and D ( p, 3 )are the vertices of a parallelogram taken in order, find the value of p.

12. If origin is at one end of the line segment whose midpoint is ( 1, 0 ), then find the coordinates of the other end of the segment.

13. Find a relation between x and y if ( x, y ), ( 1, 2 ) and ( 7, 0 ) are collinear.
14. Sin( A + B ) = 1 and cos ( A – B ) = 1, A + B is cute. Find A and B.
15. A tangent PQ at a point P of a circle of radius 5cm a line through the centre O at a point Q so that OQ = 12cm. Find the length of PQ.

16. In fig. a circle touches all the four sides of a quadrilateral ABCD whose sides are AB = 6cm, BC = 7cm and CD = 4cm. Find AD.  
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17. A wheel has a diameter 42cm. Find how many complete revolutions must it make to cover 1056m?

18. Find  the  perimeter of a sector of a circle with radius 6cm if the angle of the sector is 600.

19. How  many  balls,  each  of  radius  1cm can be made from a solid sphere of radius 8cm?

20. 3  cubes  each  of  side  4cm  are  joined  end  to  end. Find  the surface area of the resulting cuboid.

21. A cone and a hemisphere have equal bases and equal volumes. Find the ratio of their heights.

22. Three solid glass balls of radius 1cm, 6cm and 8cm respectively are melted and cast into a solid sphere. Find its radius.

23. A solid metal ball of radius 6cm is melted and cast into smaller balls each of radius 3cm. Find the number of smaller balls.

24. If the number of square cm on the surface of a sphere is equal to the number of cubic cm in its volume, what is the diameter of the sphere.

25. A vertical pole is 15m long and the length of its shadow is 15√3m. What is the angle of elevation of the sun?

26. Solve for θ:    sinθ  -  cosθ  =  0.

27. A  missing  helicopter  is  reported  to  have crashed somewhere in the rectangular  

      region shown in fig given below. What  is the probability that it crashed inside the 

      lake shown.



   2km
Lake


 

                    6km
 4km



10km

28. Suppose  you  drop  a  die  on  the  rectangular  region  shown  in  fig. What  is the

      probability that it will land inside the circle with diameter 1m ?
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29.  If  HCF ( a, b ) = 12 and a x b = 1800. Find LCM ( a, b ).

30   If  the  pair  of  linear equations x – y = 1 and x + ky = 5 has a unique solution

       x = 2, y = 1, find the value of  k.
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Answers

	1.              1
	11.            p = 7
	21.            2:1

	2.             k  ≠ 6
	12.         ( 2, 0 )
	22             9 

	3.      no real roots
	13.    x  +  3y  =  7
	23.            8

	4.              5
	14.    A  =  450,  B  =  450
	24.            6 

	5.            18
	15.          √119
	25.           300

	6.         10 √3
	16.        3cm
	26.           450

	7.            15m
	17.        800
	27.           2/15

	8.            13cm
	18.        18.28cm
	28.            π /24

	9.        2 √ a2  +  b2
	19.        512
	29.            150

	10.       ( 3, - 10 )
	20.        224
	30.             3
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